ORIGINAL

STATE CORPORATION COMMISSION OF KANSAS OIL & GAS CONSERVATION DIVISION	API NO. 15- 039-20918-0000 OTTOTTOTTOTTOTTOTTOTTOTTOTTOTTOTTOTTOTT
WELL COMPLETION FORM ACO-1 WELL HISTORY	E
	rox - SW - SW- NE Sec. 14 Twp. 2-S Rge. 27 XW
Operator: License #31956	2300 Feet from S(N) (circle one) Line of Section
Name: Dark Horse Oil Company	Feet from E/W (circle one) Line of Section
Address 34861 Forest Park Drive	Footages Calculated from Nearest Outside Section Corner: NE, SE, NW or SW (circle one)
City/State/Zip Elizabeth, CO 80107	Lease Name Long Ranch Well # 4 Field Name Monaghan NE
Purchaser: <u>EQUIVA Trading Company</u>	Producing Formation Lansing/Kansas City
Operator Contact Person: <u>Douglas C. Frickey</u>	Elevation: Ground 2649 KB 2654
Phone () 800-876-4482	Total Depth3796' PBTD3796'
Contractor: Name: Murfin Drilling Company	•
License:30606	Amount of Surface Pipe Set and Cemented at Feet
Wellsite Geologist: Paul M. Gunzelman	Multiple Stage Cementing Collar Used? Yes X No
Designate Type of Completion	If yes, show depth setFeet
X New Well Re-Entry Workover	If Alternate II completion, cement circulated from
OilSWDSIOWTemp. Abd.	feet depth to w/ sx cmt.
X Dry Other (Core, WSW, Expl., Cathodic, etc)	Drilling Fluid Management Plan P4/1 KYK 1/03/ (Data must be collected from the Reserve Pit)
If Workover/Reentry: Old Well Info as follows:	Ady Maria
Operator:	Chloride content 1100 ppm Fluid volume 375 bbls
Well Name:	Chloride content 1100 ppm Fluid volume 375 bbls Dewatering method used Evaporation Location of fluid disposal if hauled offsite:
Deepening Re-perf Conv. to Inj/SMD wise	S
Plug Back PBID	Operator Name
Dual Completion Docket No	Lease NameLicense No
Other (SWD or Inj?) Docket No.	Quarter Sec TwpS RngE/W
Spud Date Date Reached TD Completion Date	County Docket No
- Room 2078, Wichita, Kansas 67202, within 120 days of the Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information on 12 months if requested in writing and submitted with the months). One copy of all wireline logs and geologist well	be filed with the Kansas Corporation Commission, 130 S. Market spud date, recompletion, workover or conversion of a well. side two of this form will be held confidential for a period of e form (see rule 82-3-107 for confidentiality in excess of 12 report shall be attached with this form. ALL CEMENTING TICKETS lls. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgation with and the statements herein are complete and correct to t	sted to regulate the oil and gas industry have been fully complied he best of my knowledge.
Signature Norman Luckes	K.C.C. OFFICE USE ONLY
Title Secretary/Treasurer Date	F Letter of Confidentiality Attached Wireline Log Received
	C Geologist Report Received
2001 Notary Public Deluda / Jeden STARY PUB	Distribution KCC SWD/RepNGPA
Notary Public DUNOU // JOUNTY	KGS Plug Other (Specify)
Date Commission Expires BRENDA L SED	ER
10-26-2002 EX	

Form ACO-1 (7-91)

Operator Name Dar	Horse C	il Company	Lease Name	Long F	Ranch	Well #	4	
		☐ East	County	Decati	ır	· · · · · · · · · · · · · · · · · · ·		
Sec. <u>14</u> Tup.2 <u>-S</u>	Rge. <u>27</u>	X Vest		-				
INSTRUCTIONS: Show interval tested, time hydrostatic pressures, if more space is need	e tool open a bottom hole to	and base of formati and closed, flowing emperature, fluid reco	and shut-in pres	ssures, whet	her shut-in pre	ssure rea	ched static	level,
Drill Stem Tests Take (Attach Additional		🛛 Yes 🗌 No	⊠ _{Log}	Formation	n (Top), Depth	and Datums	, Sa	mple
Samples Sent to Geolo	•	☐ Yes ☒ No	Name		Тор		Datum	
Cores Taken	•	☐ Yes ☒ No		nydrite nhydrite			+473 +442	
Electric Log Run		🛛 Yes 🗆 No	Topeka	_	3324		-670	
(Submit Copy.)			Toronto	Shale	3491 3520		-837 -866	
List All E.Logs Run:	Radiatio	n Guard Log	Lansing		3532		-878	
		,		nsas Ci			1080	
			Total I	Pepth	3796		1142	
<u></u>								
		CASING RECORD	□ New X U					
	Report al	ll strings set-conduc	ctor, surface, i	ntermediate,	production, etc	· .	т	
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs./Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Po Additive	
SURFACE	12 1/4"	8 5/8"	29#	309'	COMMON	190	3% cc	2%ge
· · · · · · · · · · · · · · · · · · ·								
	ADDITIONAL C	EMENTING/SQUEEZE REC	ORD					
Purpose:	Depth							
Perforate	Top Bottom	Type of Cement	#Sacks Used	1	Type and Percent	Additive	s	
Protect Casing								
Plug Back TD Plug Off Zone					,			
	DEDECRATION	L DECORD - Prides Di	una Sat/Tuma	Anid I		Coment Co	Basan	
Shots Per Foot		RECORD - Bridge Plu e of Each Interval P			racture, Shot, I Kind of Materi		Dept	
			· · · · · · · · · · · · · · · · · · ·					
TUBING RECORD	Size	Set At	Packer At	Liner Run	☐ _{Yes} ☐	No	,	
Date of First, Resum	ed Production,	SWD or Inj. Produ	cing Method	owing Pun	mping Gas Li	ft 🗆 ot	her (Explair	n)
Estimated Production Per 24 Hours	Oil	Bbls. Gas	Mcf Water	Bbls.	Gas-Oil			vity
Disposition of Gas:	METHOD OF	COMPLETION		Pro	oduction Interve	nt .		
□ _{Vented} □ _{Sold}	Used on L	ease	Hole Diperf.	Dually	Comp. Commi	ingled		
(If vented, sub	mit ACO-18.)	Other	(Specify)	1	,	_		

LONG RANCH #4
2300' FNL and 2300' FEL
Approx. SW SW NE of Section 14 T-2-S R-27-W
Decatur County, Kansas
API #: 15-039-20918-0000

ORIGINAL

DRILL STEM TEST INFORMATION

DRILL STEM TEST #1

INTERVAL TESTED: 3551.00 to 3570.00 ft. (Pollnow Zone)

BLOW DESCRIPTION: Initial Flow: Weak Blow throughout - 2" to 1 3/4" Blow.

Final Flow: Weak Blow throughout - 1" Blow.

Tool slid approximately 4' to bottom.

INITIAL HYDROSTATIC MUD:

FIRST INITIAL FLOW PRESSURE:

FIRST FINAL FLOW PRESSURE:

INITIAL SHUT-IN PRESSURE:

SECOND INITIAL FLOW PRESSURE:

SECOND FINAL FLOW PRESSURE:

FINAL SHUT-IN PRESSURE:

87 PSI
688 PSI

FINAL HYDROSTATIC MUD: 1676 PSI

INITIAL OPENING: 30 minutes INITIAL SHUT-IN: 60 minutes FINAL OPENING: 45 minutes FINAL SHUT IN: 90 minutes

RECOVERY: 10' of Mud.

TOTAL FLUID RECOVERY: 10.00 ft. (10.00 ft. in the drill collars)

GAS IN PIPE: 0.00

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566



Invoice Number: 083370

Invoice Date: 02/11/01

Sold

Dark Horse Oil Company

To:

34861 Forest Park DR

Elizabeth, CO

80107



Cust I.D. . . : Dark sas

P.O. Number..: Long Ranch #4

P.O. Date...: 02/11/01

Due Date.: 03/13/01 Terms...: Net 30

Item I.D. /Desc.	Qty. Used	Unit	Price	Net	TX
Common	190.00	SKS	7.5500	1434.50	E
Gel	4.00	SKS	9.5000	38.00	
Chloride	7.00	SKS	28.0000	196.00	E
Handling	201.00	SKS	1.0500	211.05	E
Mileage (76)	76.00	MILE	8.0400	611.04	E
201 sks @\$.04 p	er sk per mi				
Surface	1.00	JOB	470.0000	470.00	E
Mileage pmp trk	76.00	MILE	3.0000	228.00	E
Surface plug	1.00	EACH	45.0000	45.00	E
Date of Invoice. If Account CURREN	t, Payable 30 Days Follo 1 1/2% Charged Thereafte T take Discount of \$ 32	er. Tax <u>3.36</u> Pay	total: : ments:	3233.59 0.00 0.00 3233.59	
ONLY if paid with	in 30 days from Invoice	Date Tot	al:	\$ 2,910. 23	

Federal Tax I.D.

REMIT TO P.O. BOX 31 SERVICE POINT: **RUSSELL, KANSAS 67665** DAKLEY ON LOCATION RANGE 27W CALLED OUT JOB START SEC. 25 COUNTY, DECAMAR RANCH LONG LOCATION OBSRLEN 12E-WELL# OLD OR NEW (Circle one) MURFIN DRIC. RIG 16 **OWNER** SAME CONTRACTOR SURFACE TYPE OF JOB **CEMENT** 12/4 T.D. **HOLE SIZE** AMOUNT ORDERED 1905Ks Com 3 &cc 28 6 EL 309 **DEPTH CASING SIZE TUBING SIZE DEPTH** DRILL PIPE **DEPTH DEPTH** TOOL COMMON_190 3/5 **MINIMUM** PRES. MAX POZMIX **SHOE JOINT** MEAS. LINE 4 5KS GEL CEMENT LEFT IN CSG. CHLORIDE 75Ks PERFS. @ DISPLACEMENT @ **EQUIPMENT** @ @ PUMP TRUCK , CEMENTER TERRY @ HELPER WAYNE HANDLING 2015KS **@** BULK TRUCK MILEAGE OHF DER SK 218 DRIVER DAUID BULK TRUCK **TOTAL** DRIVER 2490.59 **SERVICE** REMARKS: DID CIRCULATS CEMENT DEPTH OF JOB PUMP TRUCK CHARGE **EXTRA FOOTAGE** MILEAGE 76 mx @ 3 \$ PLUG 85% SURFACE @ @ @ TOTAL _ 743 5 CHARGE TO: DARK HORSE OFL, CO. FLOAT EQUIPMENT STREET STATE_ _ZIP_ CITY____ @ @ @, @ To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment TOTAL _ and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or TAX_ contractor. I have read & understand the "TERMS AND TOTAL CHARGE _ CONDITIONS" listed on the reverse side. DISCOUNT -— IF PAID IN 30 DAYS

SIGNATURE <

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566

ing 🔻

..ORIGINAL

INVOICE

Invoice Number: 083423

Invoice Date: 02/16/01

Sold Dark Horse Oil Company

34861 Forest Park DR To:

Elizabeth, CO

80107

Cust I.D....: Dark

F.O. Number..: Long Ranch #4 P.O. Date...: 02/16/01

Due Date.: 03/18/01 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common	120.00	SKS	7.5500	906.00	E
Pozmix	80.00	SKS	3.2500	260.00	E
Gel	10.00	SKS	9.5000	95.00	E
FloSeal	50.00	LBS	1.4000	70.00	Ε
Handling	212.00	SKS	1.0500	222.60	E
Mileage (76)	76.00	MILE	8.4800	644.48	E
212 sks @\$.04 p	er sk per mi '				
Plug	1.00	JOB	580.0000	580.00	E
Mileage pmp trk	76.00	MILE	3.0000	228.00	E
Plug	1.00	EACH	45.0000	45.00	Ε
Date of Invoice. If Account CURREN	t, Payable 30 Days Fo 1 1/2% Charged Therea T take Discount of \$ <u> </u>	fter. Tax <u>305.//</u> Pay	ototal: (: vments: :al:	3051.08 0.00 0.00 3051.03 305.11 \$ 2,745.97	

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

DATE 2 - 16.01	SEC.	TWP. 2-5	RANGE 27 W	CALLED OUT ?このgn	ON LOCATION	JOB START	JOB FINISH 7:45pm
LONG	L	-				COUNTY	STATE
LEASE RANCH		<u> </u>	LOCATION & bet.	S KAILE	10 26 5 m	DESTOR	L 63
OLD OR NEW (Cir	cie one)		1200-10	E LONG KA	Ne N	me	
CONTRACTOR V	No Rin	Jod.	+16	OWNER 6			·
	AT	1					
HOLE SIZE) गा ह	T.D.	3800'	CEMENT	.7		1
CASING SIZE			TH	AMOUNT OF	RDERED 200	o ada 6	0140
TUBING SIZE			OTH 10 - 10	<u>000</u>	0 1/1 # t	lo-seal	Barak
DRILL PIPE			TH 2200'				
TOOL PRES. MAX			YTH NIMUM	COMMON	120 eps	@ 755	906,00
MEAS. LINE			DE JOINT	POZMIX	80 also	- @ 7,25	260.00
CEMENT LEFT IN	CSG.	OII	<u>JEJOH</u>		10 2 NA		95,00
PERFS.							
DISPLACEMENT				CHLORIDE _	50 12 2 Da	@ <i>1.40</i>	70.00
	EOUI	PMENT				@	
			•			_@	
PUMP TRUCK (CEMENTE	R E				_@	
	HELPER				0/0/04	_@	202/6
BULK TRUCK			 		2/2 5KS	_ @ <u></u>	222.60 644.48
# 222 1	DRIVER	Troy	<i>/</i>	MILEAGE_			677.78
BULK TRUCK						momit	2198.08
# 1	DRIVER					TOTAL	<u>~110,08</u>
	REM	IARKS:			SERVI	CE	
2200 - 8	25 sda						
	00 1/0			DEPTH OF J	OB		2200'
	0 75	 					
368 -	40 sta			PUMP TRUC	K CHARGE		580.00
368 -	40 ska 10 skg			PUMP TRUC EXTRA FOO	K CHARGE	_@	580.00
368 - 40 - RH -	40 ska 10 akg 15 aka			PUMP TRUC EXTRA FOO MILEAGE	K CHARGE TAGE		580.00 228.00
368 -	40 ska 10 skg			PUMP TRUC EXTRA FOO	K CHARGE TAGE	@ @	580.00 228.00
368 - 40 - RH - MH -	40.aka 10.akg 15.aka 10.aka		2:45	PUMP TRUC EXTRA FOO MILEAGE	K CHARGE TAGE		580.00 228.00
368 - 40 - RH -	40.aka 10.akg 15.aka 10.aka		2:45 pm	PUMP TRUC EXTRA FOO MILEAGE	K CHARGE TAGE	@ @	580.00 228.00 45.00
368 - 40 - RH - MH -	40.aka 10.akg 15.aka 10.aka		2:45pm	PUMP TRUC EXTRA FOO MILEAGE	K CHARGE TAGE	@ @ @ @	580.00 128.00 45.00 853.00
368 - 40 - RH - MH -	40 aka 10 aka 15 aka 10 aka	n) (a)	-	PUMP TRUC EXTRA FOO MILEAGE	K CHARGE TAGE	@ @ @ @	580.00 228.00 45.00
368 - 40 - RH - MH -	40 aka 10 aka 15 aka 10 aka	n) (a)	-	PUMP TRUC EXTRA FOO MILEAGE	TAGE TAGE TAGE THE STATE T	@	580.00 128.00 45.00 853.00
368 - 40 - RH - MH -	40 aka 10 aka 15 aka 10 aka	n) (a)	-	PUMP TRUC EXTRA FOO MILEAGE	K CHARGE TAGE	@	580.00 128.00 45.00 853.00
TIMAL Plug CHARGE TO: D	40 aka 10 aka 15 aka 10 aka 10 aka dow	n, (a)	o.l Co.	PUMP TRUCE EXTRA FOO MILEAGE PLUG 85	FLOAT EQU	@	580.00 128.00 45.00 853.00 868.00
TIMAL Plug CHARGE TO: D	40 aka 10 aka 15 aka 10 aka 10 aka dow	n, (a)	-	PUMP TRUCE EXTRA FOO MILEAGE PLUG 83	FLOAT EQU	@	580.00 128.00 45.00 853.00 868.00
TIMAL DIVE	40 aka 10 aka 15 aka 10 aka 10 aka dow	n, (a)	o.l Co.	PUMP TRUCE EXTRA FOO MILEAGE PLUG 83	FLOAT EQU	@	580.00 128.00 45.00 853.00 868.00
TIMAL DIVE	40 aka 10 aka 15 aka 10 aka 10 aka dow	n, (a)	o.l Co.	PUMP TRUCE EXTRA FOO MILEAGE PLUG 83	FLOAT EQU	@	580.00 128.00 45.00 853.00 868.00
TIMAL DIVE	40 aka 10 aka 15 aka 10 aka 10 aka dow	n, (a)	o.l Co.	PUMP TRUCE EXTRA FOO MILEAGE PLUG 83	FLOAT EQU	### TOTAL ####################################	580.00 128.00 45.00 853.00 868.00
TIMAL DIVE	40.2kg 15.4kg 15.4kg 10.2kg 20.2kg 20.2kg	n, (a)	o.l Co.	PUMP TRUCE EXTRA FOO MILEAGE PLUG 83	FLOAT EQU	### TOTAL ####################################	580.00 128.00 45.00 853.00 868.00
To Allied Cement	40.2kg 15.2kg 10.2kg 20.2kg 20.2kg	n.) (a) (0 rSz TE	o.l Co.	PUMP TRUCE EXTRA FOO MILEAGE PLUG 83	FLOAT EQU	### TOTAL ### TOTAL	580.00 128.00 45.00 853.00 968.00
To Allied Cement You are hereby reand furnish ceme	Yo ARA 10 4日 15 4日 10 2日 20 2日 20 2日 30 4日 5TA ting Co., In equested to nter and he	NTE	ZIP	PUMP TRUCE EXTRA FOO MILEAGE PLUG 83	FLOAT EQU	### TOTAL ### TOTAL	580.00 128.00 45.00 853.00 868.00
CHARGE TO: D STREET CITY To Allied Cement You are hereby re and furnish ceme contractor to do w	To also also also also also also also als	nc. o rent cerelper to a listed. T	ZIP	PUMP TRUCE EXTRA FOO MILEAGE PLUG 83	FLOAT EQU	TOTAL TOTAL TOTAL TOTAL	580.00 128.00 45.00 853.00 968.00
To Allied Cement You are hereby reand furnish ceme contractor to do widone to satisfaction.	サウム内 10 4月 15 点点 10 立わふ この 立わふ までに STA ting Co., In Equested to nter and he vork as is lon and sup	nc. o rent cerelper to a listed. Toervision	ZIP	PUMP TRUCE EXTRA FOO MILEAGE PLUG STATE PLUG	FLOAT EQU	TOTAL TOTAL TOTAL TOTAL	580.00 128.00 45.00 853.00 968.00
To Allied Cement You are hereby re and furnish ceme contractor to do y done to satisfactic contractor. I have	STA ting Co., In equested to neer and he work as is son and super eread & u	nc. o rent cer elper to a listed. T oervision nderstan	ZIP	PUMP TRUCE EXTRA FOO MILEAGE PLUG #3	FLOAT EQU	TOTAL DIPMENT	580.00 128.00 45.00 853.00 968.00
To Allied Cement You are hereby reand furnish ceme contractor to do widone to satisfaction.	STA ting Co., In equested to neer and he work as is son and super eread & u	nc. o rent cer elper to a listed. T oervision nderstan	ZIP	PUMP TRUCE EXTRA FOO MILEAGE PLUG SO TOTAL CHA	FLOAT EQU	TOTAL DIPMENT	580.00 128.00 45.00 853.00 868.00
To Allied Cement You are hereby re and furnish ceme contractor to do y done to satisfactic contractor. I have	STA ting Co., In equested to neer and he work as is son and super eread & u	nc. o rent cer elper to a listed. T oervision nderstan	ZIP	PUMP TRUCE EXTRA FOO MILEAGE PLUG SO TOTAL CHA	FLOAT EQU	TOTAL DIPMENT	580.00 128.00 45.00 853.00 868.00
To Allied Cement You are hereby re and furnish ceme contractor to do w done to satisfactic contractor. I have CONDITIONS"	STA ting Co., In equested to neer and he work as is less than a super read & units tend on the state of the	nc. orent cerelper to a listed. Thervision inderstander reverse	menting equipment assist owner or he above work was of owner agent or d the "TERMS AND e side.	PUMP TRUCE EXTRA FOO MILEAGE PLUG STATE TOTAL CHARLES TOTA	FLOAT EQU	TOTAL DIPMENT	580.00 128.00 45.00 853.00 868.00
To Allied Cement You are hereby re and furnish ceme contractor to do w done to satisfactic contractor. I have CONDITIONS"	STA ting Co., In equested to neer and he work as is less than a super read & units tend on the state of the	nc. orent cerelper to a listed. Thervision inderstander reverse	ZIP	PUMP TRUCE EXTRA FOO MILEAGE PLUG STATE TOTAL CHARLES TOTA	FLOAT EQU	TOTAL DIPMENT	580.00 128.00 45.00 853.00 868.00

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566



Invoice Number: 083370

Invoice Date: 02/11/01

Sold

Dark Horse Oil Company 34861 Forest Park DR

To: 34861 Forest I Elizabeth, CO

80107

113 12 2001

Cust I.D....: Dark

P.O. Number..: Long Ranch #4

P.O. Date...: 02/11/01

Due Date.: 03/13/01
Terms: Net 30

)esc.	Qty. Used		nit	Price	Net	TX
	190.00	S	KS	7.5500	1434.50	E
	4.00	S	KS	9.5000	38.00	E
	7.00	s	KS	28.0000	196.00	E
		S	KS	1.0500	211.05	E
5)	76.00	М	ILE	8.0400	611.04	Εļ
•	r sk per mi					
	1.00	Ј	OB	470.0000	470.00	E
o trk	76.00	М	ILE	3.0000	228.00	E
ıg	1.00	E	ACH	45.0000	45.00	E
voice. 1 CURRENT	1/2% Charge take Discou	d Thereafter. nt of \$ <u>323.36</u>	Ta: Pay	k: vments:	3233.59 0.00 0.00 3233.59 323.36 \$ 2,910.23	
	S) \$.04 pe trk ig Are Net voice. 1 CURRENT	4.00 7.00 201.00 76.00 8\$.04 per sk per mi 1.00 trk 76.00 ig 1.00 Are Net, Payable 30 voice. 1 1/2% Charged	190.00 S 4.00 S 7.00 S 201.00 S 76.00 M 1.00 J 1.00 J 1.00 M	190.00 SKS 4.00 SKS 7.00 SKS 201.00 SKS 201.00 MILE S.04 per sk per mi 1.00 JOB trk 76.00 MILE 1.00 EACH Are Net, Payable 30 Days Following Subvoice. 1 1/2% Charged Thereafter. Tax CURRENT take Discount of \$ 323.36 Pay	190.00 SKS 7.5500 4.00 SKS 9.5000 7.00 SKS 28.0000 201.00 SKS 1.0500 76.00 MILE 8.0400 9\$.04 per sk per mi 1.00 JOB 470.0000 0 trk 76.00 MILE 3.0000 0 trk 76.00 MILE 3.0000 0 trk 76.00 EACH 45.0000 Are Net, Payable 30 Days Following Subtotal: Voice. 1 1/2% Charged Thereafter. Tax: CURRENT take Discount of \$ 323.36 Payments:	190.00 SKS 7.5500 1434.50 4.00 SKS 9.5000 38.00 7.00 SKS 28.0000 196.00 201.00 SKS 1.0500 211.05 6) 76.00 MILE 8.0400 611.04 9\$.04 per sk per mi 1.00 JOB 470.0000 470.00 0 trk 76.00 MILE 3.0000 228.00 1.00 EACH 45.0000 45.00 Are Net, Payable 30 Days Following Subtotal: 3233.59 voice. 1 1/2% Charged Thereafter. Tax: 0.00 CURRENT take Discount of \$ 323.36 Payments: 0.00 1 d within 30 days from Invoice Date Total: 3233.59

ALLIED CEMENTING CO., INC. 4823 Federal Tax I. 4823

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

SERVICE POINT:	0	R	ii N		6 11 1		Δ	i Ir
DAKL	Y	1 /	ľ	U	Ü	9 %	1	dec.

$\frac{2}{DATE} \frac{11-01}{14} \frac{SEC}{25} \frac{TWP}{25} \frac{RANGE}{27\omega} \frac{C}{27\omega}$	ALLED OUT	ON LOCATION	JOB START	JOB FINISH
LEASE WELL# 4 LOCATION O SERLE	IN 12E- 4	N- 12 W-5-E	COUNTY, DECTOR	STATE
OLD OR (EW)(Circle one)				
CONTRACTOR MURFEN DRIG. RIG 16	OWNER	SAME		
CONTRACTOR MURFEN DRIG. RIG 16 TYPE OF JOB SURFACE	OWNER	34112		
HOLE SIZE 12/4" T.D. 3/0	CEMENT			
CASING SIZE 8 % DEPTH 309	AMOUNT OR	DERED <u>/90 5</u>	Ks Com 3 h	CC 2866L
TUBING SIZE DEPTH				
DRILL PIPE DEPTH				
TOOL DEPTH			سرسر	50
PRES. MAX MINIMUM	COMMON	90 sks	_@ <u>_7-33</u>	1434 6
MEAS. LINE SHOE JOINT	POZMIX	72	@	2 00
CEMENT LEFT IN CSG. 15"	GEL	4 sks	_@_ <i>9 52</i>	37 60
PERFS.	CHLORIDE _	75Ks	_@ <i>_28&</i>	176-00
DISPLACEMENT 18 34			@	
EQUIPMENT			@	
			@	
PUMPTRUCK CEMENTER TERRY				
# 19% HELPER WAYNE	HANDLING_	201080	_@ <u></u>	71105
BULKTRUCK	MILEAGE			C 10 88
# 2/8 DRIVER DAUID	MILEAGE 6	44 per SNI	11110	611.04
BULK TRUCK, "				4
# DRIVER			TOTAL	2430
				2490.59
REMARKS:		SERV	ICE	
CEMENT DID CIRCUlate				
CEMENI DID CIRCULATE	DEPTH OF JO	NR	309	
	PUMP TRUCI		507	470 4
	EXTRA FOOT		@	
	MILEAGE	76 mz	@ 3 25	228 署
		SURFACE		45 5
	1200	3477.02		
THANK YOU			@	
			ТОТАІ	743 6
CHARGE TO: DARK HORSE OIL, CO.			IOIAL	
CHARGE TO. DANCE 10-1		•		
CORD DECE		DI OAT DOI		
STREET		FLOAI EQ	UIPMENT	
		FLOAI EQ	UIPMENT	
CITYSTATEZIP			UIPMENT 	
			\	
			@	
CITYSTATEZIP				
CITYSTATEZIP To Allied Cementing Co., Inc.			@	
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment				
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or	, .			
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was				
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	TAX		@	
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND	TAX		@	
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	TAXTOTAL CHAI	RGE	@	
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side.	TAXTOTAL CHAI		@	
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side.	TAXTOTAL CHAI	RGE	@	
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side.	TAXTOTAL CHAI	RGE	@	
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side.	TAXTOTAL CHAI	RGE	@	

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566

ing the second



Invoice Number: 083423

Invoice Date: 02/16/01

Sold Dark Horse Oil Company

To: 34861 Forest Park DR

Elizabeth, CO

80107

Cust I.D....: Dark

P.O. Number..: Long Ranch #4

P.O. Date...: 02/16/01

Due Date.: 03/18/01 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common	120.00	SKS	7.5500	906.00	E
Pozmix	80.00	SKS	3.2500	260.00	E
Gel	10.00	SKS	9.5000	95.00	Ε
FloSeal	50.00	LBS	1.4000	70.00	E
Handling	212.00	SKS	1.0500	222.60	E
Mileage (76)	76.00	MILE	8.4800	644.48	E
212 sks @\$.04 pe	er sk per mi				
Plug	1.00	JOB	580.0000	580.00	
Mileage pmp trk	76.00	MILE	3.0000		
Plug	1.00	EACH	45.0000	45.00	Е
Date of Invoice. If Account CURREN	t, Payable 30 Days 1 1/2% Charged Ther I take Discount of in 30 days from Inv	eafter. Tax \$ <u>305.//</u> Pay	total: : ments: al:	3051.08 0.00 0.00 3051.08 305.11	

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

SERVICE POINT	D		0.00	1	A	Î
Oakh		E C	ij	V	H	L

SEC., TWP. RANGE C	ALLED OUT	ON LOCATION	JOB START	JOB FINISH
DATE 2 - 16.01 14 25 27 w	COORN	11:30 m	12:300m	
Touc		•	COUNTY'	STATE
			DECABUR	F6
OLD OR NEW (Circle one) SW-SW-NE	Long R	anch] _	
0 1 1 1 6		5 - SAY	me	
CONTRACTOR MURIN DAL #16	OWNER 6	JACK TO THE STATE OF THE STATE		
TYPE OF JOB PTA	CIED ADDIM			
HOLE SIZE 7718 T.D. 3800'	CEMENT	· · · · · · · · · · · · · · · · ·	/	2/40
CASING SIZE DEPTH	AMOUNT	ORDERED <u>200</u>	9 alla (0140
TUBING SIZE DEPTH	000	20 115 # E	(0-5-ea)	bar ak
DRILL PIPE DEPTH 2200'				
TOOL DEPTH		. 0 0		0+(.
PRES. MAX MINIMUM		120 apa		
MEAS. LINE SHOE JOINT		80 sla		260,00
CEMENT LEFT IN CSG.		10 -2 has	_@ <i>_9.50</i> _	95,00
PERFS.	CHLORIDE			
DISPLACEMENT	cellocial	10 2 2 2 Da	_@ <i>_/<u>,</u>_///</i> /	70.00
EQUIPMENT			_@	-
DQ OII MENT			@	
			@	
PUMP TRUCK CEMENTER 2			@	
#191 HELPER Andrew	HANDLING	3 2/2 5KS	@ 1.05	222.60
BULK TRUCK	MILEAGE			644.48
# 222 DRIVER Troy				
BULK TRUCK			TOTAL	2198,08
# DRIVER			IOIAL	
REMARKS:		SERVI	CE	
2200 - 25 als				
1-100 - 100 aka	DEPTH OF	IOR	u- 4-818 - 12	2260'
368 - 40 sta		ICK CHARGE		580.00
40 - 101/4	EXTRA FO		@	
RH - 15 alsa	MILEAGE			228,00
MH - 102/2	PLUG 8		_	45,00
	1200_0_	3 / 1)	_ @	
NAL Plus down @ 2:45 pm			_ @	
nal Plug down (a) 2-45pm			_ @	
	Low			853,00
		7 Y ' '.	TOTAL	808,00
CHARGE TO: Dark Horse Oil Co.	Fos			
STREET	•	FLOAT EOU	IPMENT	
CITYSTATEZIP				
To Allied Cementing Co., Inc.			_@	
You are hereby requested to rent cementing equipment				
and furnish cementer and helper to assist owner or			TOTAL	<i>,</i>
contractor to do work as is listed. The above work was				
done to satisfaction and supervision of owner agent or	TAV			
contractor. I have read & understand the "TERMS AND				
CONDITIONS" listed on the reverse side.	TOTAL CH	ARGE		
CONDITIONS listed oil the reverse side.				
	DISCOUN	Γ	——— IF PAI	D IN 30 DAYS
		. ~		
SIGNATURE Only 7. Dinkel	ANd	rew f. D.	iNKel	
		DD 13.10	ED NAME	

P.O. BÓX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566



Invoice Number: 083370

Invoice Date: 02/11/01

Sold

Dark Horse Oil Company

To:

34861 Forest Park DR

Elizabeth, CO

80107



Cust I.D....: Dark

P.O. Number..: Long Ranch #4

P.O. Date...: 02/11/01

Due Date.: 03/13/01 Terms...: Net 30

Itam I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common	190.00	SKS	7.5500	1434.50	E
Gel	4.00	SKS	9.5000	38.00	
Chloride	7.00	SKS	28.0000	196.00	
Handling	201.00	SKS	1.0500	211.05	
Mileage (76)	76.00	MILE	8.0400	611.04	E
201 sks @\$.04 p					
Surface	1.00	JOB	470.0000	470.00	Ε
Mileage pmp trk	76.00	MILE	3.0000	228.00	E
Surface plug	1.00	EACH	45.0000	45.00	E
Date of Invoice. If Account CURREN	t, Payable 30 Days 1 1 1/2% Charged There T take Discount of in 30 days from Inv	eafter. Tax. \$ <u>323.36</u> Paym	otal: : eents: .l:	3233.59 0.00 0.00 3233.59 323.36 \$ 2,910.23	_

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

ALLIED CEMENTING CO., INC. 4823

Federal Tax

SERVICE POINT: DAKLEY

DAKLEY

2- //-01 DATE	SEC.	TWP.	RANGE 27W	CALLED OUT	ON LOCATION	JOB START	
LEASE RANCH	WELL#	4	LOCATION OBERA	IN 12E-	1N- ZW-5=	COUNTY, DECATAR	STATE
OLD OR (VEW) Ci	rcle one)						
CONTRACTOR	MHA	داد ادسی	16. RIG 16	OWNER	SAME		
CONTRACTOR TYPE OF JOB	SURFA		20. K26 /0	OWNER	341.12		
HOLE SIZE	12/4		3/0	CEMENT			
CASING SIZE	8 3/8	<u> </u>	PTH 389	AMOUNT OF	RDERED <u>/905</u>	KS COM3 to	cc 2866L
TUBING SIZE		DE	PTH				
DRILL PIPE		DE	PTH				
TOOL			PTH		40 20	- 55	1434 6
PRES. MAX			NIMUM	COMMON_	190 SK5		1434 4
MEAS. LINE		SH	OE JOINT	POZMIX _	4 SKS	@	19 50
CEMENT LEFT IN	v CSG.	/ɔ	<u> </u>	GEL CHLORIDE _		@ 28 5	19, 20
PERFS. DISPLACEMENT		18	X.1	CHLORIDE _		@ 22,5 ==	
DISPLACEMENT							
	EQU	IPMENT					
			- 2011			@	
PUMP TRUCK.			ERRY				
	HELPER		WAYNE	HANDLING	201585	@ 1 25	211
BULK TRUCK	ADIVED		1 m	MILEAGE 🙍	44 PER SK/	MILE	578 08
# 2/3 BULK TRUCK: "	DRIVER	<i>\</i>	DAUID		•		2.77.0
. 7 +	DRIVER					TOTAL	2458 a
т	DICIVER						2490.5
				EXTRA FOO MILEAGE _	TAGE	@	470 % 228 % 45 %
			THANK YOU				
CHARGE TO:	DARK)	HORSE	054, 60.		3	TOTAL	743 6
STREET					FLOAT EQ	JIPMENT	
CITY	ST	ATE	ZIP			ì	
						@	
						@	
						@, [
						@	·
To Allied Cemer	nting Co.,	Inc.				@	-
You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was			ı		TOTAL	-	
			of owner agent or			_	
			nd the "TERMS AND	TOTAL CUA	RGE		
CONDITIONS" listed on the reverse side.							
				DISCOUNT		IF PAI	D IN 30 DAYS
SIGNATURE Bell Uly				Bill Wynn PRINTED NAME			

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566

INVOICE

Invoice Number: 083423

Invoice Date: 02/16/01

Sold Dark Horse Oil Company To: 34861 Forest Park DR

Elizabeth, CO

80107

Cust I.D....: Dark

P.O. Number..: Long Ranch #4

P.O. Date...: 02/16/01

Due Date.: 03/18/01 Terms...: Net 30

Item I.D./Desc. (Unit	Price	Net	TX	
Common	120.00	SKS	7.5500	906.00	Ε
Pozmix	80.00	SKS	3.2500	260.00	E
Gel	10.00	SKS	9.5000	95.00	E
FloSeal	50.00	LBS	1.4000	70.00	Ε
Handling	212.00	SKS	1.0500	222.60	Ε
Mileage (76)	76.00	MILE	8.4800	644.48	Ε
212 sks @\$.04 per					
Plug	1.00	JOB	580.0000	580.00	E
Mileage pmp trk	76.00	MILE	3.0000	228.00	\mathbf{E}
Plug	1.00	EACH	45.0000	45.00	Ε
All Prices Are Net, Payable 30 Days Following Subtotal: Date of Invoice. 1 1/2% Charged Thereafter. Tax: If Account CURRENT take Discount of \$ 305.// Payments: ONLY if paid within 30 days from Invoice Date Total:				3051.08 0.00 0.00 3051.08	
		•		305.11	
				\$ 2,745.97	

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

SERVICE POINT: OALLey, £5

SEC. TWP. RANGE CA	ALLED OUT	ON LOCATION	JOB START	JOB FINISH
	7:00Am	11:30 m	12:300m	2:45pm
1-46		•	COUNTY	STATE
LEASE RANCH WELL# LOCATION & bell, w			Decasor	FG
OLD OR NEW (Circle one) SW-SW-NE	Long Ka		J	
CONTRACTOR IN C 11 14/1	OWNER 📴	SAY	~ C	
CONTRACTOR MURIN DAL 16 TYPE OF JOB PTA	OWNER 67	C4 12-11-16		<u> </u>
	CEMENT			
		DERED <u>200</u>	100 6	0/40
CASING SIZE DEPTH TUBING SIZE DEPTH	690 cd	DEKED KED	10-5-01	038 CP
DRILL PIPE DEPTH 2200'	<u> </u>	<u> </u>	10->441	10.1.1
TOOL DEPTH				
PRES. MAX MINIMUM	COMMON \	20 200	@ 7,55	906,00
MEAS. LINE SHOE JOINT	POZMIX	80 alsa	@ 3,25	260.00
CEMENT LEFT IN CSG.		يمار 0	@ 9,50	95,00
PERFS.			@	
DISPLACEMENT	CHLORIDE _ <= 1/0 Clake	50.2 200	@ 1, 40	70.00
EQUIPMENT				
			@	
PUMPTRUCK CEMENTER E			@	
#191 HELPER Analizw	HANDLING_	2/2 5KS	@ /.05	222.60
BULK TRUCK	MILEAGE			644.48
# >22 DRIVER TOY				
BULK TRUCK			TOTAL	2198.08
# DRIVER				
REMARKS:		SERVI	CE	
2200 - 25 shs				
1-100 - 100 s.ba	DEPTH OF JC)B		2200
368 - 40 sta	PUMP TRUCK			580.00
40 - 10 skg	EXTRA FOOT	_ /	_ @	770
RH - 15 alsa		76 Miles		228,00
MH - 102hs	PLUG_83/8	P149	_@	45.00
			_@	
Final Plug down @ 2:45 pm	a.		_@	
	- ~ ~	2 11		853,00
		411	TOTAL	, 308,00
CHARGE TO: Dark Horse Oil Co.	TUZIL	' - '		
	9	FLOAT EOU	IPMENT	
STREET		TEOM EQU	II WILLIAM	
CITYSTATEZIP				
To Allied Cementing Co., Inc.				
You are hereby requested to rent cementing equipment			mom I	
and furnish cementer and helper to assist owner or			IOIAL	·
contractor to do work as is listed. The above work was				
done to satisfaction and supervision of owner agent or	TAX		_	
contractor. I have read & understand the "TERMS AND	TOTAL CITAL	RGE		
CONDITIONS" listed on the reverse side.				
	DISCOUNT -		IF PA	ID IN 30 DAYS
_				
SIGNATURE andry 17. Dinkel	1 1			
SIGNATURE Vanda 2. 1 P. Venda VIV	ANIdio	<i>ഉപ</i> ୮. D	iNKel	